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Part-A

20x1=20

1. Who says “The state is the keystone of the social arch”?

(a) Finer
(c) Garner

(b) Laski
(d) T.W. Kent

2. For the first time, in which country the welfare state took strong root

(a) England
(c) Denmark

3. Social contract theory was supported by

(a) Jenks
(c) Roussean

4. Who wrote the book ‘Civil Government’?
(a) Hobbes
(c) Roussean

(b) Sweden
(d) Norway

(b) Morgan
(d) Sir Henry Maire

(b) Locke
(d) Aristotle

5. In which country the political philosopher ‘Jean Bodin’ belongs to

(a) France
(c) Germany

6. Paying Income Tax signifies
(a) Traditional authority
(c) Charismatic authority

7. Coca-Colaisa
(a) Public sector
(c) Multinational Corporation

8. Who says “Indian Culture is a strong culture?

(a) A.V. Dicey
(c) Peater Drukker

(b) Italy
(d) Spain

(b) Rational legal authority
(d) None of the above

(b) Private sector
(d) Limited Company

(b) Amartya Sen
(d) Samuel Huntington

9. Which country follows presidential form of Government?

(a) America
(c) Switzerland

(b) England
(d) Franc

10. The term ‘federation’ is derived from which language

(a) Latin
(c) Hindi

11. Who published the book “spirit of laws”?

(b) French
(d) Sanskrit
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(a) Laski (b) Garner

(c) Montesquien (d) Aristotle

The election of Judges by the legislature is seen in the country

(a) France (b) Switzerland
(c) England (d) India

Total members of Lok Sabha is

(a) 552 (b) 545

(c) 500 (d) 550

Who was the president of Indian constituent assembly?

(a) Dr.Rajendra Prasad (b) Dr.B.R.Ambedkar
(c) Gandhi (d) Nehru

The Judges of High Court are appointed by

(a) Prime Minister (b) Governor

(c) President (d) Chief Minister

How many writs of Jurisdiction are there?
(a) Two (b) Three
(c) Four (d) Five

73" Amendment Act was enacted in the year

(a) 1950 (b) 1947

(c) 1992 (d) 1977

How is the Head of the Tamilnadu Panchayat Union as called

(a) Chairman (b) Agent

(c) Pradhan (d) Mayor

Which year the new agriculture policy of Indian Government was announced?

(a) 1982 (b) 1992

(c) 2000 (d) 2004

The Chairman of Administrative Reforms Commission

(a) Nehru (b) Moraji Desai

(c) Gandhi (d) A.P.J. Abdul Kalam
Part-B

What are the types of State?

What are the theories which explain the origin of the state?

What are the three types of authority?

What are the types of Sovereignty?

What is Unicameral legislative?

Define Judicial Review?

What are the fundamental rights enshrined in the Indian Constitution?
Write a short note about village administrative officer?

Write the name of the corporation in Tamilnadu?
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What is Poverty?

Part-C

Define city state?

Define Matriarchal Theory?

What is Elitist Theory?

Explain open economy?

Explain Federal Government?

What are the qualifications to become a Judge?

Explain the sessions of Parliament?

7x3=21

Explain the qualifications prescribed for a person contesting in election to the legislative assembly?

Define Township?
Describe the agricultural policy of India?

Part-D

Answer all the questions:

41.

42.

43,

44,

45,

46.

47.

Explain the problems in establishing welfare state?
(or)
Explain Sir Henry Maine Theory?

Explain the distinction between unicameral and bicameral legislature?
(or)
Explain the modern dictatorship?

List out the merits and demerits of the judicial review?
(or)
Explain the meaning of power?

Write the fundamental duties?
(or)
Explain about global Village?

Write any ten functions of the district collector?
(or)
Write the functions of Chief Minister relating to the Council of Ministers?

Explain the Cantonment Board?
(or)
Write the obligatory functions of Municipality?

Explain the five year plans in India?
(or)
Explain Indian Economic Development?

7x5=35
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